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[MUM`GMc d� _�� [HGOYV _�_� eVcLI`Y^E`YMV Mf VMZaEU gEcLI YV E NMZMHI UEhLZ IHZ&
ZMHViLi ]h LUEI`YF OEUf&INEFLI�

SOL gEcL jLUi EVi iYINLZIYMV LkHE`YMVI EZL LI`E]UYIOLi fMZ `OL NMZMHI UEhLZ IHZ&
ZMHViLi ]h `gM LUEI`YF OEUf&INEFLI� SOL NMZMHI UEhLZ YI iLIFZY]Li ]h `OL LlLF`YcL aMiLU
Mf `OL aLiYHa YV gOYFO LUEI`YF EVi mHYi UEhLZI EU`LZVE`L� eV MZiLZ `M YVcLI`Y^E`L `OL VMZ&
aEU gEcLI� EUU ZLEU ZMM`I Mf iYINLZIYMV LkHE`YMVI EZL iL`LZaYVLi EVi `OLYZ aMcLaLV`I
gY`O YVFZLEIYV^ gEcL VHa]LZ EZL YVcLI`Y^E`Li� _I E ZLIHU`� `OL iYINLZIYMV FHZcLI Mf EUU
VMZaEU gEcLI EZL FMVI`ZHF`Li EVi iLNLViLVFL Mf `OL VMZaEU gEcLI MV `OL NEZEaL`LZI

Mf `OL NMZMHI UEhLZ EVi `OL LUEI`YF OEUf&INEFLI YI EVEUhnLi�
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